AR (AFHERER, REMBRREHETER, RIENERER,

REMERFREFRTRRUBRIENERE)

HEBMOELE
K
HEFES HEESR et B thig
SHE SHEEEHFEE —
128 A
SN — THBUEHE | _pyis | smme | pemER | BB | BenRE | BRRH
RS S LESS[OF=F 1EHER EEBER HpEE EEBER R

% % % % %
148 £HFEAR 1% g 0.690 44 0.011 - —
0.694 45 0.011 — -
2% = 0.228 26 0.001 — -
=l 0.245 2.8 0.001 — —
3% = 0.076 18 0.001 — -
=l 0.101 2.0 0.001 — —
FHEZRAR 2% = 0.341 3.1 0.004 — -
=l 0.366 32 0.004 — —
3% = 0.135 2.2 0.001 — -
=l 0.166 2.4 0.001 — —
4%| = 0.101 1.9 0.001 — -
=l 0.141 2.1 0.001 — —
KEWRAHEEFAK 9% 3 0.727 46 0214 - -
=l 0.742 46 0.221 — —
8% = 0.227 26 0.035 — -
=l 0.246 2.7 0.035 — —
7% = 0.115 2.0 0.022 — -
£l 0.142 2.1 0.024 — —
—=A55 3% - 0.236 2.6 0.002 - —
4% 0.132 2.2 0.001 — -
53| - 0.092 1.9 0.001 — -
2% £HFEAR 1% g 1.010 6.4 0.016 — -
1.015 6.6 0.016 - -
2% = 0.334 38 0.001 — -
=l 0.358 41 0.001 — —
3% = 0111 26 0.001 — -
=l 0.148 2.9 0.001 — —
FHEZRAR 2% = 0.499 45 0.006 — -
=l 0.536 47 0.006 — —
3% = 0.198 32 0.001 — -
=l 0.243 35 0.001 — —
4%| = 0.148 2.8 0.001 — -
=l 0.206 3.1 0.001 — —
KEWRAHEFAX 9% g 1.065 6.7 0.313 - -
1.087 6.7 0.323 - -
8% = 0.332 38 0.051 — -
=l 0.360 40 0.051 — —
7% = 0.168 29 0.032 — -
£l 0.208 3.1 0.035 — —
—=AH5 3% - 0.345 38 0.003 - —
4%| 0.193 32 0.001 — -
5% - 0.135 2.8 0.001 — -
3% £HFEAR 1% g 0.872 5.6 0.014 — -
0.877 5.7 0.014 — -
2% = 0.288 33 0.001 — -
=l 0.310 35 0.001 — —
3% = 0.096 2.3 0.001 — -
=l 0.128 25 0.001 — —
FHEZRAR 2% = 0.431 39 0.005 — -
=l 0.463 40 0.005 — —
3% = 0171 2.8 0.001 — -
=l 0.210 30 0.001 — —
4%| = 0.128 2.4 0.001 — -
=l 0.178 2.7 0.001 — —
KEWRAHEFAK 9% g 0.920 58 0.271 - -
0.939 5.8 0.279 - -
8% = 0.287 33 0.044 — -
=l 0.311 34 0.044 - -
7% = 0.145 25 0.028 — -
£l 0.180 2.7 0.030 — —
—=AH5 3% - 0.298 3.3 0.003 - —
4%| - 0.167 2.8 0.001 — -
5% - 0.116 2.4 0.001 — -




HEFES HEESR et B thig
SHE SHMEEEHFEE —
o 2| A
N TRBUERE | —mem | osgme | RemER | BRE | REDRER | BRRE
RS S LESS[OF=F EHER EEBER HpEE EEBER R
% % % % %
458 EXCE R 1% g 5.616 5.4 0.276 — -
5.620 55 0.276 — —
2% = 4420 34 1.021 — -
=l 4437 36 0.838 - -
3% = 3.359 2.3 1.060 — -
ol 3.406 25 0.907 - -
FHEZRAR 2% = 4346 36 0.747 — -
=l 4373 38 0.574 - -
3% = 3.309 26 0.710 — -
=l 3.369 2.8 0570 - -
4%| = 2.264 2.1 0.165 — -
=l 2.325 2.4 0.120 - -
KEWRAHEFAK 9% 3 5.925 5.6 5.251 - -
=l 5.959 5.6 5.280 - -
8% = 4682 33 4.369 — -
=l 4698 35 4361 - -
7%l = 3.546 25 3.368 — -
£l 3.593 2.7 3.387 - -
—=AH5 3% - 3.591 3.2 0.392 — —
4% 2.906 2.7 0.207 — -
53| - 2.232 2.4 0.115 — -
5% £H{EARX 1% = 5.616 5.4 0.276 — -
=l 5.620 55 0.276 - -
2% = 4.420 34 1.021 — -
=l 4437 36 0.838 - -
3% = 3.359 2.3 1.060 — -
=l 3.406 25 0.907 - -
FHEZRAR 2% = 4346 36 0.747 — -
=l 4373 38 0.574 - -
3% = 3.309 26 0.710 — -
=l 3.369 2.8 0570 - -
4%| = 2.264 2.1 0.165 — -
=l 2.325 2.4 0.120 - -
KEWRAHEFAK 9% 3 5.925 5.6 5.251 - -
=l 5.959 5.6 5.280 - -
8% = 4,682 33 4.369 — -
=l 4698 35 4361 - -
7%l = 3.546 25 3.368 — -
£l 3.593 2.7 3.387 - -
—=AH5 3% - 3.591 3.2 0.392 — —
4% 2.906 2.7 0.207 — -
52| - 2.232 2.4 0.115 — -
6%8 EXCE R 1% = 5.616 5.4 0.276 — -
=l 5.620 55 0.276 - -
2% = 4420 34 1.021 — -
=l 4437 36 0.838 - -
3% = 3.359 2.3 1.060 — -
=l 3.406 25 0.907 - -
FHEZRAR 2% = 4346 36 0.747 — -
=l 4373 38 0574 - -
3%| = 3.309 26 0.710 — -
=l 3.369 2.8 0570 - -
4%| = 2.264 2.1 0.165 — -
=l 2.325 2.4 0.120 - -
KEWRAHEFAK 9% 3 5.925 5.6 5.251 - -
=l 5.959 5.6 5.280 - -
8% = 4682 33 4.369 — -
=l 4698 35 4361 - -
7% = 3.546 25 3.368 — -
£l 3.593 2.7 3.387 - -
—EAR 3% - 3.591 32 0.392 - -
4% - 2.906 2.7 0.207 — -
5%| - 2.232 2.4 0.115 — -




fMEFES HEER T E frtthig
SHIE SHEEEXHEMRE SHES T
N I — TIBIERE | _gaus | sopme | memaw | GBE | 2en®RE | BEBRS
=7 = HAREEDA LES IO =F T AR EEBER s EEBER s
% % % % %
78 iAo TYIRAR 1Z| 2 0.009 1.4 0.001 - -
0.078 1.9 0.001 - -
2%| = 0.008 14 0.001 - -
=l 0.077 1.9 0.001 - -
3% = 0.007 14 0.001 - -
=l 0.076 1.9 0.001 - -
EEFFER HEES T E Rty
=R EHEEEAEFME BHEERT
NN N TIBIEEE | _mus | mpme | mewEd | SRR | REDEE | BERE
7 *AE SRS L SIOF=F 3 ZAER AT R s TAEIGE R s
% % % % %
78 A TYIRAR 12| 2 0.009 1.4 0.001 - -
0.078 1.9 0.001 - -
2%| 3 0.008 14 0.001 - -
o) 0.077 1.9 0.001 - -
3% = 0.007 1.4 0.001 — -
<) 0.076 1.9 0.001 - -
fMEFES HEER et E frtthig
SHIE SHEEEXHEMRE BHERER
SN I— TIBIERE | _gaus | sopme | memaw | GBE | 2en®Ry | BEBRS
= = HEREEDA LES IO =F T AR EEBER s EEBER s
% % % % %
78 iAo TYIRAR 1Z| 2 0.009 1.4 0.001 - -
0.078 1.9 0.001 — —
2%| = 0.008 14 0.001 - -
=l 0.077 1.9 0.001 - -
3% = 0.007 14 0.001 - -
=l 0.076 1.9 0.001 - -
EEFFER HEES T E Rty
SR EHEEEAEME EHEEET
NN — TIBERE | _gpin | sopme | RemEs | mRe | Bep®y | SERM
7 xAE SRS HH0EE ZAER AT s TAEIGE R s
% % % % %
78 A TYIRAR 12| 2 0.009 1.4 0.001 - -
0.078 1.9 0.001 - -
2%| 3 0.008 14 0.001 - -
<) 0.077 1.9 0.001 - -
3% i 0.007 1.4 0.001 — -
o) 0.076 1.9 0.001 - -
fEFES HEER T E frtthig
SHIE SHEEEXHEMRE SHELET
RN I IRMERE | gy | same | memEn | mRe | 2enRw | BER
=7 = HAREEDA LES IO =F T AR EEBER g EEBER s
% % % % %
78 iAo TYIRAR 1% 2 0.009 1.4 0.001 - -
0.078 1.9 0.001 — —
2%| = 0.008 14 0.001 - -
=l 0.077 1.9 0.001 - -
3% = 0.007 14 0.001 - -
=l 0.076 1.9 0.001 - -




fMEFES HEER T E frtthig
SHIE SHEEEXHEMRE SR AT
RN E— IRMERE | gy | same | memEn | mRN | 2enRw | BER
=7 = HAREEDA LES IO =F T AR EEBER s EEBER s
% % % % %
78 iAo TYIRAR 1Z| 2 0.009 1.4 0.001 - -
0.078 1.9 0.001 — —
2%| = 0.008 14 0.001 - -
=l 0.077 1.9 0.001 - -
3% = 0.007 14 0.001 - -
=l 0.076 1.9 0.001 - -
EEFFER HEER T E Rty
=R EHEEEAEFME EHEREET
NN — TIBEEE | _guis | sxpme | memEs | RRE | BEDRE | BRRE
7 *AE SRS L SIOF=F 3 ZAER AT R s TAEIGE R s
% % % % %
78 A TYIRAR 12| 2 0.229 1.7 0.183 - -
0.294 2.1 0.180 - -
2%| 3 0.009 14 0.001 - -
o) 0.077 1.9 0.001 - -
3% = 0.008 1.4 0.001 — —
<) 0.076 1.9 0.001 - -
fEFES HEER T E frtthig
SHIE SHEEEHEMRE EHE T EEKT
RN I RMERE | gy | swme | memEw | mRe | 2enRw | BER
= = HEREEDA LES IO =F T AR EEBER s EEBER s
% % % % %
78 iAo TYIRAR 1Z| 2 0.041 15 0.017 - -
0.102 2.0 0.009 — —
2%| = 0.009 14 0.001 - -
=l 0.077 1.9 0.001 - -
3% = 0.008 14 0.001 - -
=l 0.076 1.9 0.001 - -
EEFFER HEES T E Rty
SR EHEEEAEFME SHEmA+H
NN — TIBERE | _gpin | sopme | RemEs | mRe | Bep®y | SERM
7 xAE SRS HH0EE ZAER AT s TAEIGE R s
% % % % %
78 A TYIRAR 12| 2 0.009 1.4 0.001 - -
0.078 1.9 0.001 - -
2%| 3 0.008 14 0.001 - -
<) 0.077 1.9 0.001 - -
3% i 0.007 1.4 0.001 — —
o) 0.076 1.9 0.001 - -
fMEFES HEER T E frtthig
SHE SHEEEXHEMRE SHEERET
RN I IRMERE | gy | same | memEn | mRe | 2enRw | BER
=7 = HAREEDA LES IO =F T AR EEBER g EEBER s
% % % % %
78 iAo TYIRAR 1% 2 0.009 1.4 0.001 - -
0.078 1.9 0.001 — —
2%| = 0.008 14 0.001 - -
=l 0.077 1.9 0.001 - -
3% = 0.007 14 0.001 - -
=l 0.076 1.9 0.001 - -




fMEFES HEER T E frtthig
SHIE SHEEEXHEMRE BHEEET
N I — TIBIERE | _gaus | sopme | memaw | GBE | 2en®RE | BEBRS
=7 =IE HAREEDA LES IO =F T AR EEBER s EEBER s
% % % % %
78 iAo TYIRAR 1Z| 2 0.009 1.4 0.001 - -
0.078 1.9 0.001 — —
2%| = 0.008 14 0.001 - -
=l 0.077 1.9 0.001 - -
3% = 0.007 14 0.001 - -
=l 0.076 1.9 0.001 - -
EEFFER HEES T E Rty
=R EHEEEAEFME SRR AT
NN — TIBEEE | _guis | sxpme | memEs | RRE | BEDRE | BRRE
7 *AE SRS L SIOF=F 3 ZAER AT R s TAEIGE R s
% % % % %
78 A TYIRAR 12| 2 0.009 1.4 0.001 - -
0.078 1.9 0.001 - -
2%| 3 0.008 14 0.001 - -
o) 0.077 1.9 0.001 - -
3% = 0.007 1.4 0.001 — -
<) 0.076 1.9 0.001 - -
fMEFES HEER et E frtthig
SHIE SHEEEXHEMRE SRR FIE
RN I RMERE | gy | swme | memEw | mRe | 2enRw | BER
= =IE HEREEDA LES IO =F T AR EEBER s EEBER s
% % % % %
78 iAo TYIRAR 1Z| 2 0.024 15 0.001 - -
0.091 1.9 0.001 — —
2%| = 0.009 14 0.001 - -
=l 0.077 1.9 0.001 - -
3% = 0.008 14 0.001 - -
=l 0.076 1.9 0.001 - -
EEFFER HEES T E Rty
SR EHEEEAEME = 508 22 35 B0 FH Ep AT
NN — TIBERE | _gpin | sopme | RemEs | mRe | Bep®y | SERM
7 xAE SRS HH0EE ZAER AT s TAEIGE R s
% % % % %
78 A TYIRAR 12| 2 0.436 1.6 0.396 - -
0.496 2.1 0.386 - -
2%| 3 0.009 14 0.001 - -
<) 0.077 1.9 0.001 - -
3% i 0.008 1.4 0.001 — -
o) 0.076 1.9 0.001 - -
fEFES HEER T E frtthig
SHIE SHEEEXHEMRE EBHERZA T HE
SN I— TIBIERIE | _gaus | sopme | memaw | GBE | 2en®Ry | BEBRS
=7 = HAREEDA LES IO =F T AR EEBER g EEBER s
% % % % %
78 iAo TYIRAR 1% 2 0.831 1.6 0.791 - -
0.887 2.1 0.776 — —
2%| = 0.023 1.5 0.001 - -
=l 0.091 1.9 0.001 - -
3% = 0.009 14 0.001 - -
=l 0.076 1.9 0.001 - -




HEFEH

e at B s

SHIE SHEEEXHEMRE EHERZAIIH
N E— THWERS | —mem | smme | mewEw | gEn | pepRs | BREs
TR AR LES IO =F T AR EEBER s EEBER s
% % % % %
78 iAo TYIRAR 1Z| =" 0.079 15 0.055 - -
=l 0.140 20 0.047 - -
2%| = 0.009 14 0.001 - -
=l 0.077 1.9 0.001 - -
3% = 0.008 14 0.001 - -
=l 0.076 1.9 0.001 - -
EEFFER HEEL #iEt B A tthisg
=R EHEEEHEHES e ERZE SR
NN — FURERE | —my | soeme | mewls | GRe | pepRE | BERM
SRS BHOEE ZAER AT R i AT R s
% % % % %
78 A TYIRAR 12| i 0.050 15 0.026 - -
o) 0.111 20 0.018 - -
2%| 3 0.009 14 0.001 - -
o) 0.077 1.9 0.001 - -
3% = 0.008 1.4 0.001 — -
<) 0.076 1.9 0.001 - -
fEFES HEZES T E frtthig
SHIE SHEEEHEMRE BHEREMEAN
N R— THWERS | —mem | smme | mewEw | gEn | pepRs | BREs
TR LES IO =F T AR EEBER s EEBER s
% % % % %
78 iAo TYIRAR 1Z| i 0.009 1.4 0.001 - -
=l 0.078 1.9 0.001 - -
2%| = 0.008 14 0.001 - -
=l 0.077 1.9 0.001 - -
3% = 0.007 14 0.001 - -
=l 0.076 1.9 0.001 - -
EEFFER HEEL #iEt B G tthisg
SR EHEEEHEHES = H 2 R AR A LT
NN — FURERE | —my | somme | mewls | GRe | pepRE | BERM
SRS BHOEE ZAER AT s AT s
% % % % %
78 A TYIRAR 12| i 0.677 1.6 0.643 - -
o) 0.743 20 0.641 - -
2%| 3 0.129 15 0.105 - -
<) 0.191 20 0.098 - -
3% i 0.009 1.4 0.001 — —
o) 0.076 1.9 0.001 - -
fMEFES HEZES T E frtthig
SHE SHEEEXHEMRE SRR KESH
SN I— TIBIERIE | _gaus | sopme | memaw | GBE | 2en®Ry | BEBRS
= A ; pran o | HROFE T AR EEBER g EEBER s
HERELEINE
% % % % %
78 iAo TYIRAR 1% i 0.311 15 0.287 - -
=l 0.372 20 0.279 - -
2%| = 0.009 14 0.001 - -
=l 0.077 1.9 0.001 - -
3% = 0.008 14 0.001 - -
=l 0.076 1.9 0.001 - -




fMEFES HEER T E frtthig
SHIE SHEEEXHEMRE SR AR EET
N I — TIBIERE | _gaus | sopme | memaw | GBE | 2en®RE | BEBRS
=7 = HAREEDA LES IO =F T AR EEBER s EEBER s
% % % % %
78 iAo TYIRAR 1Z| 2 0.975 15 0.951 - -
1.037 2.0 0.944 — —
2%| = 0.470 1.5 0.446 - -
=l 0.532 20 0.439 - -
3% = 0.009 14 0.001 - -
=l 0.076 1.9 0.001 - -
EEFFER HEES T E Rty
=R EHEEEAEFME SR HEBRKIIF
NN — TIBERE | _gpin | sopme | memEs | Gme | Bep®Ey | SERM
7 *AE SRS L SIOF=F 3 ZAER AT R s TAEIGE R s
% % % % %
78 A TYIRAR 12| 2 0.252 15 0.228 - -
0.313 2.0 0.220 - -
2%| 3 0.009 14 0.001 - -
o) 0.077 1.9 0.001 - -
3% = 0.008 1.4 0.001 — —
<) 0.076 1.9 0.001 - -
fMEFES HEER et E frtthig
SHIE SHEEEXHEMRE SEEE)IERLDET
RN I RMERE | gy | swme | memEw | mRe | 2enRw | BER
= = HEREEDA LES IO =F T AR EEBER s EEBER s
% % % % %
78 iAo TYIRAR 1Z| 2 0.009 1.4 0.001 - -
0.078 1.9 0.001 — —
2%| = 0.008 14 0.001 - -
=l 0.077 1.9 0.001 - -
3% = 0.007 14 0.001 - -
=l 0.076 1.9 0.001 - -
EEFFER HEES T E Rty
SR EHEEEAEME SR E BRI BT
NN — TIBERE | _gpin | sopme | RemEs | mRe | Bep®y | SERM
7 xAE SRS HH0EE ZAER AT s TAEIGE R s
% % % % %
78 A TYIRAR 12| 2 0.291 15 0.267 - -
0.352 2.0 0.259 - -
2%| 3 0.009 14 0.001 - -
<) 0.077 1.9 0.001 - -
3% i 0.008 1.4 0.001 — —
o) 0.076 1.9 0.001 - -
fEFES HEER T E frtthig
SHIE SHEEEXHEMRE SHESME P LR
RN I IRMERE | gy | same | memEn | mRe | 2enRw | BER
=7 = HAREEDA LES IO =F T AR EEBER g EEBER s
% % % % %
78 iAo TYIRAR 1% 2 0.235 1.6 0.201 - -
0.300 2.0 0.198 — —
2%| = 0.009 14 0.001 - -
=l 0.077 1.9 0.001 - -
3% = 0.008 14 0.001 - -
=l 0.076 1.9 0.001 - -




HEFEH

e at B s

SHIE SHEEEXHEMRE B E S MAML) [’
VN~ | A
N I — TIBIERE | _gaus | sopme | memaw | GBE | 2en®RE | BEBRS
= > TR AR BHUOEE T AR EEBER iR EEBER s
% % % % %
78 iAo TYIRAR 1Z| =" 0.552 1.7 0.504 - -
=l 0.615 2.1 0.498 - -
2%| = 0.009 14 0.001 - -
=l 0.077 1.9 0.001 - -
3% = 0.008 14 0.001 - -
=l 0.076 1.9 0.001 - -
EEFFER HEEL #iEt B A tthisg
=R EHEEEHEHES = 5012 = ) Bt 0 BT
NN — HHMERE | —mym | spme | mewmEn | GRH | REREN | ERRE
SRS L SIOF=F 3 ZAER AT R i AT R i
% % % % %
78 A TYIRAR 12| i 0.210 15 0.186 - -
o) 0.271 20 0.178 - -
2%| 3 0.009 14 0.001 - -
o) 0.077 1.9 0.001 - -
3% = 0.008 1.4 0.001 - -
<) 0.076 1.9 0.001 - -
fEFES HEZES T E frtthig
SHIE SHEEEHEMRE = 5B S M AR R T
|| A
SN I— TIBIERE | _gaus | sopme | memaw | GBE | 2en®Ry | BEBRS
= > TR BHOEE T AR EEBER R EEBER s
% % % % %
78 iAo TYIRAR 1Z| i 0.445 16 0.416 - -
=l 0.510 20 0.413 - -
2%| = 0.009 14 0.001 - -
=l 0.077 1.9 0.001 - -
3% = 0.008 14 0.001 - -
=l 0.076 1.9 0.001 - -
EEFFER HEEL #iEt B G tthisg
SR EHEEEHEHES EHNESRABEEH
V- | P
NN — THMERE | —mym | xpme | mewmEn | GRH | REREN | ERRSE
SRS HH0EE ZAER AT s AT s
% % % % %
78 A TYIRAR 12| i 0.009 1.4 0.001 - -
o) 0.078 1.9 0.001 - -
2%| 3 0.008 14 0.001 - -
<) 0.077 1.9 0.001 - -
3% i 0.007 1.4 0.001 - -
o) 0.076 1.9 0.001 - -
fMEFES HEZES T E frtthig
SHE SHEEEXHEMRE SR S AR R B AT
VN5 | P
SN I— TIBIERIE | _gaus | sopme | memaw | GBE | 2en®Ry | BEBRS
= > TR BHUOEE T AR EEBER R EEBER s
% % % % %
78 iAo TYIRAR 1% i 0.393 1.6 0.363 - -
=l 0.458 20 0.360 - -
2%| = 0.009 14 0.001 - -
=l 0.077 1.9 0.001 - -
3% = 0.008 14 0.001 - -
=l 0.076 1.9 0.001 - -




HEFEH

e at B s

SHIE SHEEEXHEMRE SRS MEHEE 1
N I — TIBIERE | _gaus | sopme | memaw | GBE | 2en®RE | BEBRS
T > ; wa | FFHOFE T AR EEBER s EEBER s
HERELEDE
% % % % %
78 iAo TYIRAR 1Z| 2 0.268 16 0.228 - -
0.323 2.1 0.212 — —
2%| = 0.009 14 0.001 - -
=l 0.077 1.9 0.001 - -
3% = 0.008 14 0.001 - -
=l 0.076 1.9 0.001 - -
EEFFER HEES T E Rty
SR EHEEEAEFME = 502 0% 2 B0 K A BT
NN — TIBERE | _gpin | sopme | memEs | Gme | Bep®Ey | SERM
7 > SRS L SIOF=F 3 ZAER TAEIGE R s TAEIGE R s
% % % % %
78 A TYIRAR 12| 2 0.009 1.4 0.001 - -
0.078 1.9 0.001 - -
2%| = 0.008 14 0.001 - -
o) 0.077 1.9 0.001 - -
3% = 0.007 1.4 0.001 - -
<) 0.076 1.9 0.001 - -
HEFFER HEER T E frtthig
SHIE SHEEEHEFMRE BHEEZHB=RH
P, P TIBEEE | _guis | spme | RewmEs | BRE | R9EE | BEERN
= > ; wa | FFHOFE T AR EEBER s EEBER s
HERELEDE
% % % % %
78 iAo TYIRAR 1Z| 2 0.009 1.4 0.001 - -
0.078 1.9 0.001 — —
2%| = 0.008 14 0.001 - -
=l 0.077 1.9 0.001 - -
3% = 0.007 14 0.001 - -
=l 0.076 1.9 0.001 - -
EEFFER HEES T E Rty
SR EHEEEAEFME = 50 R 1 2 B0 22 R AT
NN — TIBERE | _gpin | sopme | RemEs | mRe | Bep®y | SERM
7 > SRS HH0EE ZAER TAEIGE R s TAEIGE R s
% % % % %
78 A TYIRAR 12| 2 0.009 1.4 0.001 - -
0.078 1.9 0.001 - -
2%| = 0.008 14 0.001 - -
<) 0.077 1.9 0.001 - -
3% i 0.007 1.4 0.001 - -
o) 0.076 1.9 0.001 - -




AR (AFHERER RENBEERERTE RIRHERE. REVEEREREERUBRIFHERE)

HFEBHDIELE
=
EEFFER HEER T E Rty
SR EHEEEAEFME SRS T

TN P
NN — THMERE | —mym | spme | mewmEn | GRH | REREN | ERRE
SRR EED S LE SIOE=F 3 ZAER AT s TAEIE R s
% % % % %
3% iAo T RAN 12| = 0.801 1.8 0.429 - —
o) 3.166 49 0.313 - -
2%| = 0.019 14 0.001 - -
o) 2.805 47 0.001 - -
3% i 0.018 1.4 0.001 — —
<) 2.804 49 0.001 - -
448 AU TYIRAR 12| i 3.625 1.9 3.204 - -
o) 5.819 5.1 2.829 - -
2% = 1.973 1.6 1.765 - -
o) 4.454 5.0 1.567 - -
3% i 0.826 1.6 0.650 - -
o) 3.564 5.2 0.520 - -
78 A TYIRAR 12| i3 7.528 2.0 7.018 - -
o) 9.194 438 6.473 - -
2%| = 5.352 20 4.840 - -
o) 7.585 5.4 4.340 - -
3% = 3.031 1.7 2.764 - -
o) 5.540 5.2 2.495 - -
841 iAo TIvIRAN 12| = 7.528 20 7.018 - —
o) 9.194 48 6.473 - -
2%| = 5.352 20 4.840 - -
o) 7.585 5.4 4.340 - -
3% i 3.031 1.7 2.764 - -
<) 5.540 5.2 2.495 - -
1358 iAo FvIRAR 1% i 8.251 41 6.073 - -
o) 10.315 78 5.186 - -
2%| = 3.924 22 3.267 - -
o) 6.455 59 2.848 - -
3% " 2.410 1.6 2.213 - -
o) 5177 53 2.010 - -
144 iAo FvIRAR 1% i 7.592 41 5.421 - -
o) 9.691 78 4568 - -
2%| = 3.468 2.1 2.910 - -
o) 6.025 538 2.485 - -
3% i 1.824 1.6 1.627 - -
o) 4621 53 1.454 - -




fMEFES HEZES T E i tthig
SHIE BHEEEHEHES BHEERH
VN~ | A
N — TUBIAEE | g | xmme | memEn | Gme | genRw | BERM
- TR AR BHUOEE T AR EEBER iR EEBER iR
% % % % %
3 A TYIRAR 1Z| 3 0.801 18 0.429 - -
=l 3.166 49 0.313 - -
2%| = 0.019 14 0.001 - -
=l 2.805 47 0.001 - -
3% = 0.018 14 0.001 - -
=l 2.804 49 0.001 - -
4% A TYIRAR 1Z| 3 3.625 1.9 3.204 - -
" 5.819 5.1 2.829 - -
2%| = 1.973 1.6 1.765 - -
=l 4454 5.0 1.567 - -
3% = 0.826 1.6 0.650 - -
=l 3.564 5.2 0.520 - -
78 iAo TYIRAR 1Z| 3 6.918 20 6.408 - -
=l 8.596 48 5.875 - -
2%| = 4.824 1.9 4431 - -
=l 7.084 5.2 4.023 - -
3% = 2.637 1.9 2.246 - -
=l 5.166 5.4 1.954 - -
8%  thi o TYIRAR 1Z| 3 6.918 20 6.408 - -
=l 8.596 48 5.875 - -
2%| = 4.824 1.9 4431 - -
=l 7.084 5.2 4.023 - -
3% = 2.637 1.9 2.246 - -
=l 5.166 5.4 1.954 - -
1358 g/ oTvIRAR 1Z| i3 8.251 41 6.073 - -
=l 10.315 7.8 5.186 - -
2%| = 3.924 22 3.267 - -
=l 6.455 5.9 2.848 - -
3% = 2.410 1.6 2213 - -
=l 5177 5.3 2.010 - -
1458 g/ TYvIRAR 1Z| i3 7.592 41 5.421 - -
" 9.691 78 4568 - -
2%| = 3.468 2.1 2.910 - -
=l 6.025 5.8 2.485 - -
3% = 1.824 1.6 1.627 - -
=l 4621 5.3 1.454 - -
MEFES HEEL #iEt B G tthisg
=R EHEEEHEHES EHEREH
V- | P
NN —— FHMERE | —mym | xpme | mewmEn | GRH | REREN | ERRE
SRS L SIOE=F 3 BER BERER i BERER i
% % % % %
3% iAo T RAR 12| = 0.755 1.8 0.383 — -
o) 3123 49 0.270 - -
2%| = 0.019 14 0.001 - -
o) 2.805 47 0.001 - -
3% i 0.018 1.4 0.001 - -
o) 2.804 49 0.001 - -
448 AU TVIRAR 12| i3 3578 1.9 3.157 - -
o) 5.774 5.0 2.842 - -
2%| = 1.973 1.6 1.765 - -
o) 4.454 5.0 1.567 - -
3% " 0.826 1.6 0.650 - -
o) 3.564 5.2 0.520 - -
78 A TYIRAR 12| i3 6.958 2.0 6.448 - -
o) 8.634 48 5913 - -
2% = 4711 20 4.199 - -
o) 6.978 5.4 3.733 - -
3% 3 2.299 1.7 2.032 - -
o) 4.842 5.2 1.797 - -
8% iAo T RAR 12| = 6.958 20 6.448 — —
o) 8.634 48 5913 - -
2% = 4711 20 4.199 - -
o) 6.978 5.4 3.733 - -
3% 3 2.299 1.7 2.032 - -
o) 4.842 5.2 1.797 - -
1358 Ao TFvIRAR 1% i 8.251 41 6.073 - -
o) 10.315 78 5.186 - -
2%| = 3.924 22 3.267 - -
o) 6.455 59 2.848 - -
3% = 2.410 1.6 2.213 - -
o) 5177 53 2.010 - -
144 iAo FvIRAR 1% 3 7.592 41 5.421 - -
o) 9.691 78 4568 - -
2%| = 3.468 2.1 2.910 - -
o) 6.025 538 2.485 - -
3% " 1.824 1.6 1.627 - —
o) 4621 53 1.454 - -




fMEFES HEZES T E i tthig
SHIE BHEEEHEHES EHERmET
VN~ | A
N — TUBIAEE | g | xmme | memEn | Gme | genRw | BERM
- TR AR BHUOEE T AR EEBER iR EEBER iR
% % % % %
3 A TYIRAR 1Z| 3 1.468 1.7 1.195 - -
=l 3.793 49 0.989 - -
2%| = 0.365 1.5 0.272 - -
=l 2.945 48 0.216 - -
3% = 0.018 14 0.001 - -
=l 2.804 49 0.001 - -
4% A TYIRAR 1Z| 3 3.945 2.1 3.380 - -
" 6.119 5.4 2.921 - -
2%| = 1.973 1.6 1.765 - -
=l 4454 5.0 1.567 - -
3% = 0.826 1.6 0.650 - -
=l 3.564 5.2 0.520 - -
78 iAo TYIRAR 1Z| 3 4429 2.2 3.760 - -
=l 6.228 5.0 3.311 - -
2%| = 1.767 18 1.427 - -
=l 4185 5.0 1.254 - -
3% = 0.384 1.6 0.211 - -
=l 3.018 5.0 0.119 - -
8%  thi o TYIRAR 1Z| 3 4429 2.2 3.760 - -
=l 6.228 5.0 3.311 - -
2%| = 1.767 18 1.427 - -
=l 4185 5.0 1.254 - -
3% = 0.384 1.6 0.211 - -
=l 3.018 5.0 0.119 - -
1358 g/ oTvIRAR 1Z| i3 8.251 41 6.073 - -
=l 10.315 7.8 5.186 - -
2%| = 3.924 22 3.267 - -
=l 6.455 5.9 2.848 - -
3% = 2.410 1.6 2213 - -
=l 5177 5.3 2.010 - -
1458 g/ TYvIRAR 1Z| i3 7.592 41 5.421 - -
" 9.691 78 4568 - -
2%| = 3.468 2.1 2.910 - -
=l 6.025 5.8 2.485 - -
3% = 1.824 1.6 1.627 - -
=l 4621 5.3 1.454 - -
MEFES HEEL #iEt B G tthisg
EHE EHEEEHEHES SHE+EH
V- | P
NN —— FHMERE | —mym | xpme | mewmEn | GRH | REREN | ERRE
SRS L SIOE=F 3 BER BERER i BERER i
% % % % %
3% iAo T RAR 12| = 0.515 1.7 0.265 — -
o) 2.897 47 0.200 - -
2%| = 0.019 14 0.001 - -
o) 2.805 47 0.001 - -
3% i 0.018 1.4 0.001 - -
o) 2.804 49 0.001 - -
448 AU TVIRAR 12| i 3.457 1.7 3.184 - -
o) 5.661 49 2.857 - -
2%| = 1.973 1.6 1.765 - -
o) 4.454 5.0 1.567 - -
3% " 0.826 1.6 0.650 - -
o) 3.564 5.2 0.520 - -
78 A TYIRAR 12| i3 7.723 2.0 7.213 - -
o) 9.392 48 6.671 - -
2% = 6.027 1.9 5.634 - -
o) 8.224 5.2 5.163 - -
3% i 4.041 1.9 3.650 - -
o) 6.504 5.4 3.292 - -
8% iAo T RAR 12| = 7.723 20 7.213 — —
o) 9.392 48 6.671 - -
2% = 6.027 1.9 5.634 - -
o) 8.224 5.2 5.163 - -
3% = 4.041 1.9 3.650 - -
o) 6.504 5.4 3.292 - -
1358 Ao TFvIRAR 1% i 8.251 41 6.073 - -
o) 10.315 78 5.186 - -
2%| = 3.924 22 3.267 - -
o) 6.455 59 2.848 - -
3% = 2.410 1.6 2.213 - -
o) 5177 53 2.010 - -
144 iAo FvIRAR 1% 3 7.592 41 5.421 - -
o) 9.691 78 4568 - -
2%| = 3.468 2.1 2.910 - -
o) 6.025 538 2.485 - -
3% " 1.824 1.6 1.627 - —
o) 4621 53 1.454 - -




fMEFES HEZES T E i tthig
SHIE BHEEEHEHES B AT
VN~ | A
N — TUBIAEE | g | xmme | memEn | Gme | genRw | BERM
- TR AR BHUOEE T AR EEBER iR EEBER iR
% % % % %
3 A TYIRAR 1Z| 3 0.869 1.9 0.459 - -
=l 3.231 5.0 0.346 - -
2%| = 0.019 14 0.001 - -
=l 2.805 47 0.001 - -
3% = 0.018 14 0.001 - -
=l 2.804 49 0.001 - -
4% A TYIRAR 1Z| 3 3.694 1.9 3.250 - -
" 5.883 5.2 2.852 - -
2%| = 1.973 1.6 1.765 - -
=l 4454 5.0 1.567 - -
3% = 0.826 1.6 0.650 - -
=l 3.564 5.2 0.520 - -
78 iAo TYIRAR 1Z| 3 6.958 20 6.448 - -
=l 8.634 48 5913 - -
2%| = 4711 20 4199 - -
=l 6.978 5.4 3.733 - -
3% = 2.299 1.7 2.032 - -
=l 4.842 5.2 1.797 - -
8%  thi o TYIRAR 1Z| 3 6.958 20 6.448 - -
=l 8.634 48 5913 - -
2%| = 4711 20 4199 - -
=l 6.978 5.4 3.733 - -
3% = 2.299 1.7 2.032 - -
=l 4.842 5.2 1.797 - -
1358 g/ oTvIRAR 1Z| i3 8.251 41 6.073 - -
=l 10.315 7.8 5.186 - -
2%| = 3.924 22 3.267 - -
=l 6.455 5.9 2.848 - -
3% = 2.410 1.6 2213 - -
=l 5177 5.3 2.010 - -
1458 g/ TYvIRAR 1Z| i3 7.592 41 5.421 - -
" 9.691 78 4568 - -
2%| = 3.468 2.1 2.910 - -
=l 6.025 5.8 2.485 - -
3% = 1.824 1.6 1.627 - -
=l 4621 5.3 1.454 - -
MEFES HEEL #iEt B G tthisg
EHE EHEEEHEHES EHEREER
V- | P
NN —— FHMERE | —mym | xpme | mewmEn | GRH | REREN | ERRE
SRS L SIOE=F 3 BER BERER i BERER i
% % % % %
3% iAo T RAR 12| = 0.801 1.8 0.429 — -
o) 3.166 49 0.313 - -
2%| = 0.019 14 0.001 - -
o) 2.805 47 0.001 - -
3% i 0.018 1.4 0.001 - -
o) 2.804 49 0.001 - -
448 AU TVIRAR 12| i 3.625 1.9 3.204 - -
o) 5.819 5.1 2.829 - -
2%| = 1.973 1.6 1.765 - -
o) 4.454 5.0 1.567 - -
3% " 0.826 1.6 0.650 - -
o) 3.564 5.2 0.520 - -
78 A TYIRAR 12| i3 6.958 2.0 6.448 - -
o) 8.634 48 5913 - -
2% = 4711 20 4.199 - -
o) 6.978 5.4 3.733 - -
3% 3 2.299 1.7 2.032 - -
o) 4.842 5.2 1.797 - -
8% iAo T RAR 12| = 6.958 20 6.448 — —
o) 8.634 48 5913 - -
2% = 4711 20 4.199 - -
o) 6.978 5.4 3.733 - -
3% 3 2.299 1.7 2.032 - -
o) 4.842 5.2 1.797 - -
1358 Ao TFvIRAR 1% i 8.251 41 6.073 - -
o) 10.315 78 5.186 - -
2%| = 3.924 22 3.267 - -
o) 6.455 59 2.848 - -
3% = 2.410 1.6 2.213 - -
o) 5177 53 2.010 - -
144 iAo FvIRAR 1% 3 7.592 41 5.421 - -
o) 9.691 78 4568 - -
2%| = 3.468 2.1 2.910 - -
o) 6.025 538 2.485 - -
3% " 1.824 1.6 1.627 - —
o) 4621 53 1.454 - -




fMEFES HEZES T E i tthig
SHIE BHEEEHEHES BT EEKT
VN~ | A
N — TUBIAEE | g | xmme | memEn | Gme | genRw | BERM
- TR AR BHUOEE T AR EEBER iR EEBER iR
% % % % %
3 A TYIRAR 1Z| 3 0.777 18 0.429 - -
=l 3.144 49 0.313 - -
2%| = 0.019 14 0.001 - -
=l 2.805 47 0.001 - -
3% = 0.018 14 0.001 - -
=l 2.804 49 0.001 - -
4% A TYIRAR 1Z| 3 3.601 1.9 3.204 - -
" 5.796 5.1 2.829 - -
2%| = 1.973 1.6 1.765 - -
=l 4454 5.0 1.567 - -
3% = 0.826 1.6 0.650 - -
=l 3.564 5.2 0.520 - -
78 iAo TYIRAR 1Z| 3 6.762 1.9 6.322 - -
=l 8.458 46 5.869 - -
2%| = 5.044 1.9 4,651 - -
=l 7.292 5.2 4.231 - -
3% = 2.900 18 2.566 - -
=l 5.416 5.3 2.306 - -
8%  thi o TYIRAR 1Z| 3 6.762 1.9 6.322 - -
=l 8.458 46 5.869 - -
2%| = 5.044 1.9 4,651 - -
=l 7.292 5.2 4.231 - -
3% = 2.900 18 2.566 - -
=l 5.416 5.3 2.306 - -
1358 g/ oTvIRAR 1Z| i3 8.251 41 6.073 - -
=l 10.315 7.8 5.186 - -
2%| = 3.924 22 3.267 - -
=l 6.455 5.9 2.848 - -
3% = 2.410 1.6 2213 - -
=l 5177 5.3 2.010 - -
1458 g/ TYvIRAR 1Z| i3 7.592 41 5.421 - -
" 9.691 78 4568 - -
2%| = 3.468 2.1 2.910 - -
=l 6.025 5.8 2.485 - -
3% = 1.824 1.6 1.627 - -
=l 4621 5.3 1.454 - -
MEFES HEEL #iEt B G tthisg
EHE EHEEEHEHES SHEmE+H
V- | P
NN —— FHMERE | —mym | xpme | mewmEn | GRH | REREN | ERRE
SRS L SIOE=F 3 BER BERER i BERER i
% % % % %
3% iAo T RAR 12| = 0.777 1.8 0.429 — -
o) 3.144 49 0.313 - -
2%| = 0.019 14 0.001 - -
o) 2.805 47 0.001 - -
3% i 0.018 1.4 0.001 - -
o) 2.804 49 0.001 - -
448 AU TVIRAR 12| i 3673 1.9 3.276 - -
o) 5.863 5.1 2.896 - -
2%| = 1.973 1.6 1.765 - -
o) 4.454 5.0 1.567 - -
3% " 0.826 1.6 0.650 - -
o) 3.564 5.2 0.520 - -
78 A TYIRAR 12| i3 7.263 2.0 6.753 - -
o) 8.924 48 6.203 - -
2% = 5.043 20 4531 - -
o) 7.292 5.4 4047 - -
3% i 2.504 1.7 2.216 - -
o) 5.038 5.2 1.973 - -
8% iAo T RAR 12| = 7.263 20 6.753 — -
o) 8.924 48 6.203 - -
2% = 5.043 20 4531 - -
o) 7.292 5.4 4.047 - -
3% = 2.504 1.7 2.216 - -
o) 5.038 5.2 1.973 - -
1358 Ao TFvIRAR 1% i 8.251 41 6.073 - -
o) 10.315 78 5.186 - -
2%| = 3.924 22 3.267 - -
o) 6.455 59 2.848 - -
3% = 2.410 1.6 2.213 - -
o) 5177 53 2.010 - -
144 iAo FvIRAR 1% 3 7.592 41 5.421 - -
o) 9.691 78 4568 - -
2%| = 3.468 2.1 2.910 - -
o) 6.025 538 2.485 - -
3% " 1.824 1.6 1.627 - —
o) 4621 53 1.454 - -




fMEFES HEZES T E i tthig
SHIE BHEEEHEHES EHESRET
VN~ | A
N — TUBIAEE | g | xmme | memEn | Gme | genRw | BERM
- TR AR BHUOEE T AR EEBER iR EEBER iR
% % % % %
3 A TYIRAR 1Z| 3 0.952 2.0 0.451 - -
=l 3.309 5.1 0.302 - -
2%| = 0.019 14 0.001 - -
=l 2.805 47 0.001 - -
3% = 0.018 14 0.001 - -
=l 2.804 49 0.001 - -
4% A TYIRAR 1Z| 3 3.625 1.9 3.204 - -
" 5.819 5.1 2.829 - -
2%| = 1.973 1.6 1.765 - -
=l 4454 5.0 1.567 - -
3% = 0.826 1.6 0.650 - -
=l 3.564 5.2 0.520 - -
78 iAo TYIRAR 1Z| 3 6.837 20 6.327 - -
=l 8.543 48 5.822 - -
2%| = 5.147 1.7 4878 - -
=l 7.389 5.0 4.492 - -
3% = 3.740 1.7 3473 - -
=l 6.216 5.2 3171 - -
8%  thi o TYIRAR 1Z| 3 6.837 20 6.327 - -
=l 8.543 48 5.822 - -
2%| = 5.147 1.7 4878 - -
=l 7.389 5.0 4.492 - -
3% = 3.740 1.7 3473 - -
=l 6.216 5.2 3171 - -
1358 g/ oTvIRAR 1Z| i3 8.251 41 6.073 - -
=l 10.315 7.8 5.186 - -
2%| = 3.924 22 3.267 - -
=l 6.455 5.9 2.848 - -
3% = 2.410 1.6 2213 - -
=l 5177 5.3 2.010 - -
1458 g/ TYvIRAR 1Z| i3 7.592 41 5.421 - -
" 9.691 78 4568 - -
2%| = 3.468 2.1 2.910 - -
=l 6.025 5.8 2.485 - -
3% = 1.824 1.6 1.627 - -
=l 4621 5.3 1.454 - -
MEFES HEEL #iEt B G tthisg
EHE EHEEEHEHES EHESEET
V- | P
NN —— FHMERE | —mym | xpme | mewmEn | GRH | REREN | ERRE
SRS L SIOE=F 3 BER BERER i BERER i
% % % % %
3% iAo T RAR 12| = 1.077 20 0.572 — —
o) 3.426 5.1 0.416 - -
2%| = 0.019 14 0.001 - -
o) 2.805 47 0.001 - -
3% i 0.018 1.4 0.001 - -
o) 2.804 49 0.001 - -
448 AU TVIRAR 12| i 4403 1.9 3.957 - -
o) 6.549 5.2 3516 - -
2%| = 2.341 18 2.024 - -
o) 4799 5.2 1.763 - -
3% " 0.826 1.6 0.650 - -
o) 3.564 5.2 0.520 - -
78 A TYIRAR 12| i 11.035 25 10.152 - -
o) 12.590 5.4 9.382 - -
2% = 8.323 22 7.672 - -
o) 10.415 55 7.087 - -
3% i 6.384 1.9 5.993 - -
o) 8.736 5.4 5524 - -
8% iAo T RAR 12| = 11.035 25 10.152 — -
o) 12.590 5.4 9.382 - -
2% = 8.323 22 7.672 - -
o) 10.415 55 7.087 - -
3% = 6.384 1.9 5.993 - -
o) 8.736 5.4 5524 - -
1358 Ao TFvIRAR 1% i 8.251 41 6.073 - -
o) 10.315 78 5.186 - -
2%| = 3.924 22 3.267 - -
o) 6.455 59 2.848 - -
3% = 2.410 1.6 2.213 - -
o) 5177 53 2.010 - -
144 iAo FvIRAR 1% 3 7.592 41 5.421 - -
o) 9.691 78 4568 - -
2%| = 3.468 2.1 2.910 - -
o) 6.025 538 2.485 - -
3% " 1.824 1.6 1.627 - —
o) 4621 53 1.454 - -




fMEFES HEZES T E i tthig
SHIE BHEEEHEHES EHE R EER
VN~ | A
N — TUBIAEE | g | xmme | memEn | Gme | genRw | BERM
- TR AR BHUOEE T AR EEBER iR EEBER iR
% % % % %
3 A TYIRAR 1Z| 3 0.801 18 0.429 - -
=l 3.166 49 0.313 - -
2%| = 0.019 14 0.001 - -
=l 2.805 47 0.001 - -
3% = 0.018 14 0.001 - -
=l 2.804 49 0.001 - -
4% A TYIRAR 1Z| 3 3.625 1.9 3.204 - -
" 5.819 5.1 2.829 - -
2%| = 1.973 1.6 1.765 - -
=l 4454 5.0 1.567 - -
3% = 0.826 1.6 0.650 - -
=l 3.564 5.2 0.520 - -
78 iAo TYIRAR 1Z| 3 8.287 20 7.777 - -
=l 9.948 48 7.227 - -
2%| = 6.247 1.9 5.854 - -
=l 8.456 5.2 5.395 - -
3% = 4.569 1.7 4.302 - -
=l 7.006 5.2 3.961 - -
8%  thi o TYIRAR 1Z| 3 8.287 20 7.777 - -
=l 9.948 48 7.227 - -
2%| = 6.247 1.9 5.854 - -
=l 8.456 5.2 5.395 - -
3% = 4.569 1.7 4.302 - -
=l 7.006 5.2 3.961 - -
1358 g/ oTvIRAR 1Z| i3 8.251 41 6.073 - -
=l 10.315 7.8 5.186 - -
2%| = 3.924 22 3.267 - -
=l 6.455 5.9 2.848 - -
3% = 2.410 1.6 2213 - -
=l 5177 5.3 2.010 - -
1458 g/ TYvIRAR 1Z| i3 7.592 41 5.421 - -
" 9.691 78 4568 - -
2%| = 3.468 2.1 2.910 - -
=l 6.025 5.8 2.485 - -
3% = 1.824 1.6 1.627 - -
=l 4621 5.3 1.454 - -
MEFES HEEL #iEt B G tthisg
EHE EHEEEHEHES BRI FIE
V- | P
NN —— FHMERE | —mym | xpme | mewmEn | GRH | REREN | ERRE
SRS L SIOE=F 3 BER BERER i BERER i
% % % % %
3% iAo T RAR 12| = 0.801 1.8 0.429 — -
o) 3.166 49 0.313 - -
2%| = 0.019 14 0.001 - -
o) 2.805 47 0.001 - -
3% i 0.018 1.4 0.001 - -
o) 2.804 49 0.001 - -
448 AU TVIRAR 12| i 3.625 1.9 3.204 - -
o) 5.819 5.1 2.829 - -
2%| = 1.973 1.6 1.765 - -
o) 4.454 5.0 1.567 - -
3% " 0.826 1.6 0.650 - -
o) 3.564 5.2 0.520 - -
78 A TYIRAR 12| i3 6.958 2.0 6.448 - -
o) 8.634 48 5913 - -
2% = 4711 20 4.199 - -
o) 6.978 5.4 3.733 - -
3% 3 2.299 1.7 2.032 - -
o) 4.842 5.2 1.797 - -
8% iAo T RAR 12| = 6.958 20 6.448 — —
o) 8.634 48 5913 - -
2% = 4711 20 4.199 - -
o) 6.978 5.4 3.733 - -
3% 3 2.299 1.7 2.032 - -
o) 4.842 5.2 1.797 - -
1358 Ao TFvIRAR 1% i 8.251 41 6.073 - -
o) 10.315 78 5.186 - -
2%| = 3.924 22 3.267 - -
o) 6.455 59 2.848 - -
3% = 2.410 1.6 2.213 - -
o) 5177 53 2.010 - -
144 iAo FvIRAR 1% 3 7.592 41 5.421 - -
o) 9.691 78 4568 - -
2%| = 3.468 2.1 2.910 - -
o) 6.025 538 2.485 - -
3% " 1.824 1.6 1.627 - —
o) 4621 53 1.454 - -




fMEFES HEZES T E i tthig
SHIE BHEEEHEHES =B R A0 HEFET
VN~ | A
N — TUBIAEE | g | xmme | memEn | Gme | genRw | BERM
- TR AR BHUOEE T AR EEBER iR EEBER iR
% % % % %
3 A TYIRAR 1Z| 3 0.801 18 0.429 - -
=l 3.166 49 0.313 - -
2%| = 0.019 14 0.001 - -
=l 2.805 47 0.001 - -
3% = 0.018 14 0.001 - -
=l 2.804 49 0.001 - -
4% A TYIRAR 1Z| 3 3.625 1.9 3.204 - -
" 5.819 5.1 2.829 - -
2%| = 1.973 1.6 1.765 - -
=l 4454 5.0 1.567 - -
3% = 0.826 1.6 0.650 - -
=l 3.564 5.2 0.520 - -
78 iAo TYIRAR 1Z| 3 6.958 20 6.448 - -
=l 8.634 48 5913 - -
2%| = 4711 20 4199 - -
=l 6.978 5.4 3.733 - -
3% = 2.299 1.7 2.032 - -
=l 4.842 5.2 1.797 - -
8%  thi o TYIRAR 1Z| 3 6.958 20 6.448 - -
=l 8.634 48 5913 - -
2%| = 4711 20 4199 - -
=l 6.978 5.4 3.733 - -
3% = 2.299 1.7 2.032 - -
=l 4.842 5.2 1.797 - -
1358 g/ oTvIRAR 1Z| i3 8.251 41 6.073 - -
=l 10.315 7.8 5.186 - -
2%| = 3.924 22 3.267 - -
=l 6.455 5.9 2.848 - -
3% = 2.410 1.6 2213 - -
=l 5177 5.3 2.010 - -
1458 g/ TYvIRAR 1Z| i3 7.592 41 5.421 - -
" 9.691 78 4568 - -
2%| = 3.468 2.1 2.910 - -
=l 6.025 5.8 2.485 - -
3% = 1.824 1.6 1.627 - -
=l 4621 5.3 1.454 - -
MEFES HEEL #iEt B G tthisg
EHE EHEEEHEHES B R HET
V- | P
NN —— FHMERE | —mym | xpme | mewmEn | GRH | REREN | ERRE
SRS L SIOE=F 3 BER BERER i BERER i
% % % % %
3% iAo T RAR 12| = 0.801 1.8 0.429 — -
o) 3.166 49 0.313 - -
2%| = 0.019 14 0.001 - -
o) 2.805 47 0.001 - -
3% i 0.018 1.4 0.001 - -
o) 2.804 49 0.001 - -
448 AU TVIRAR 12| i 3.625 1.9 3.204 - -
o) 5.819 5.1 2.829 - -
2%| = 1.973 1.6 1.765 - -
o) 4.454 5.0 1.567 - -
3% " 0.826 1.6 0.650 - -
o) 3.564 5.2 0.520 - -
78 A TYIRAR 12| i3 6.958 2.0 6.448 - -
o) 8.634 48 5913 - -
2% = 4711 20 4.199 - -
o) 6.978 5.4 3.733 - -
3% 3 2.299 1.7 2.032 - -
o) 4.842 5.2 1.797 - -
8% iAo T RAR 12| = 6.958 20 6.448 — —
o) 8.634 48 5913 - -
2% = 4711 20 4.199 - -
o) 6.978 5.4 3.733 - -
3% 3 2.299 1.7 2.032 - -
o) 4.842 5.2 1.797 - -
1358 Ao TFvIRAR 1% i 8.251 41 6.073 - -
o) 10.315 78 5.186 - -
2%| = 3.924 22 3.267 - -
o) 6.455 59 2.848 - -
3% = 2.410 1.6 2.213 - -
o) 5177 53 2.010 - -
144 iAo FvIRAR 1% 3 7.592 41 5.421 - -
o) 9.691 78 4568 - -
2%| = 3.468 2.1 2.910 - -
o) 6.025 538 2.485 - -
3% " 1.824 1.6 1.627 - —
o) 4621 53 1.454 - -




fMEFES HEZES T E i tthig
SHIE BHEEEHEHES EHERZEAIH
VN~ | A
N — TUBIAEE | g | xmme | memEn | Gme | genRw | BERM
- TR AR BHUOEE T AR EEBER iR EEBER iR
% % % % %
3 A TYIRAR 1Z| 3 0.801 18 0.429 - -
=l 3.166 49 0.313 - -
2%| = 0.019 14 0.001 - -
=l 2.805 47 0.001 - -
3% = 0.018 14 0.001 - -
=l 2.804 49 0.001 - -
4% A TYIRAR 1Z| 3 3.625 1.9 3.204 - -
" 5.819 5.1 2.829 - -
2%| = 1.973 1.6 1.765 - -
=l 4454 5.0 1.567 - -
3% = 0.826 1.6 0.650 - -
=l 3.564 5.2 0.520 - -
78 iAo TYIRAR 1Z| 3 6.958 20 6.448 - -
=l 8.634 48 5913 - -
2%| = 4711 20 4199 - -
=l 6.978 5.4 3.733 - -
3% = 2.299 1.7 2.032 - -
=l 4.842 5.2 1.797 - -
8%  thi o TYIRAR 1Z| 3 6.958 20 6.448 - -
=l 8.634 48 5913 - -
2%| = 4711 20 4199 - -
=l 6.978 5.4 3.733 - -
3% = 2.299 1.7 2.032 - -
=l 4.842 5.2 1.797 - -
1358 g/ oTvIRAR 1Z| i3 8.251 41 6.073 - -
=l 10.315 7.8 5.186 - -
2%| = 3.924 22 3.267 - -
=l 6.455 5.9 2.848 - -
3% = 2.410 1.6 2213 - -
=l 5177 5.3 2.010 - -
1458 g/ TYvIRAR 1Z| i3 7.592 41 5.421 - -
" 9.691 78 4568 - -
2%| = 3.468 2.1 2.910 - -
=l 6.025 5.8 2.485 - -
3% = 1.824 1.6 1.627 - -
=l 4621 5.3 1.454 - -
MEFES HEEL #iEt B G tthisg
EHE EHEEEHEHES BB R R
V- | P
NN —— FHMERE | —mym | xpme | mewmEn | GRH | REREN | ERRE
SRS L SIOE=F 3 BER BERER i BERER i
% % % % %
3% iAo T RAR 12| = 0.801 1.8 0.429 — -
o) 3.166 49 0.313 - -
2%| = 0.019 14 0.001 - -
o) 2.805 47 0.001 - -
3% i 0.018 1.4 0.001 - -
o) 2.804 49 0.001 - -
448 AU TVIRAR 12| i 3.625 1.9 3.204 - -
o) 5.819 5.1 2.829 - -
2%| = 1.973 1.6 1.765 - -
o) 4.454 5.0 1.567 - -
3% " 0.826 1.6 0.650 - -
o) 3.564 5.2 0.520 - -
78 A TYIRAR 12| i3 6.958 2.0 6.448 - -
o) 8.634 48 5913 - -
2% = 4711 20 4.199 - -
o) 6.978 5.4 3.733 - -
3% 3 2.299 1.7 2.032 - -
o) 4.842 5.2 1.797 - -
8% iAo T RAR 12| = 6.958 20 6.448 — —
o) 8.634 48 5913 - -
2% = 4711 20 4.199 - -
o) 6.978 5.4 3.733 - -
3% 3 2.299 1.7 2.032 - -
o) 4.842 5.2 1.797 - -
1358 Ao TFvIRAR 1% i 8.251 41 6.073 - -
o) 10.315 78 5.186 - -
2%| = 3.924 22 3.267 - -
o) 6.455 59 2.848 - -
3% = 2.410 1.6 2.213 - -
o) 5177 53 2.010 - -
144 iAo FvIRAR 1% 3 7.592 41 5.421 - -
o) 9.691 78 4568 - -
2%| = 3.468 2.1 2.910 - -
o) 6.025 538 2.485 - -
3% " 1.824 1.6 1.627 - —
o) 4621 53 1.454 - -




fMEFES HEZES T E i tthig
SHIE BHEEEHEHES BHERZH=AEH
VN~ | A
N — TUBIAEE | g | xmme | memEn | Gme | genRw | BERM
- TR AR BHUOEE T AR EEBER iR EEBER iR
% % % % %
3 A TYIRAR 1Z| 3 0.685 18 0313 - -
=l 3.057 49 0.204 - -
2%| = 0.019 14 0.001 - -
=l 2.805 47 0.001 - -
3% = 0.018 14 0.001 - -
=l 2.804 49 0.001 - -
4% A TYIRAR 1Z| 3 3.505 18 3.169 - -
" 5.706 49 2.857 - -
2%| = 1.973 1.6 1.765 - -
=l 4454 5.0 1.567 - -
3% = 0.826 1.6 0.650 - -
=l 3.564 5.2 0.520 - -
78 iAo TYIRAR 1Z| 3 6.958 20 6.448 - -
=l 8.634 48 5913 - -
2%| = 4711 20 4199 - -
=l 6.978 5.4 3.733 - -
3% = 2.299 1.7 2.032 - -
=l 4.842 5.2 1.797 - -
8%  thi o TYIRAR 1Z| 3 6.958 20 6.448 - -
=l 8.634 48 5913 - -
2%| = 4711 20 4199 - -
=l 6.978 5.4 3.733 - -
3% = 2.299 1.7 2.032 - -
=l 4.842 5.2 1.797 - -
1358 g/ oTvIRAR 1Z| i3 8.251 41 6.073 - -
=l 10.315 7.8 5.186 - -
2%| = 3.924 22 3.267 - -
=l 6.455 5.9 2.848 - -
3% = 2.410 1.6 2213 - -
=l 5177 5.3 2.010 - -
1458 g/ TYvIRAR 1Z| i3 7.592 41 5.421 - -
" 9.691 78 4568 - -
2%| = 3.468 2.1 2.910 - -
=l 6.025 5.8 2.485 - -
3% = 1.824 1.6 1.627 - -
=l 4621 5.3 1.454 - -
MEFES HEEL #iEt B G tthisg
EHE EHEEEHEHES = H 2 R AR A LT
V- | P
NN —— FHMERE | —mym | xpme | mewmEn | GRH | REREN | ERRE
SRS L SIOE=F 3 BER BERER i BERER i
% % % % %
3% iAo T RAR 12| = 0.801 1.8 0.429 — -
o) 3.166 49 0.313 - -
2%| = 0.019 14 0.001 - -
o) 2.805 47 0.001 - -
3% i 0.018 1.4 0.001 - -
o) 2.804 49 0.001 - -
448 AU TVIRAR 12| i 3.625 1.9 3.204 - -
o) 5.819 5.1 2.829 - -
2%| = 1.973 1.6 1.765 - -
o) 4.454 5.0 1.567 - -
3% " 0.826 1.6 0.650 - -
o) 3.564 5.2 0.520 - -
78 A TYIRAR 12| i3 6.958 2.0 6.448 - -
o) 8.634 48 5913 - -
2% = 4711 20 4.199 - -
o) 6.978 5.4 3.733 - -
3% 3 2.299 1.7 2.032 - -
o) 4.842 5.2 1.797 - -
8% iAo T RAR 12| = 6.958 20 6.448 — —
o) 8.634 48 5913 - -
2% = 4711 20 4.199 - -
o) 6.978 5.4 3.733 - -
3% 3 2.299 1.7 2.032 - -
o) 4.842 5.2 1.797 - -
1358 Ao TFvIRAR 1% i 8.251 41 6.073 - -
o) 10.315 78 5.186 - -
2%| = 3.924 22 3.267 - -
o) 6.455 59 2.848 - -
3% = 2.410 1.6 2.213 - -
o) 5177 53 2.010 - -
144 iAo FvIRAR 1% 3 7.592 41 5.421 - -
o) 9.691 78 4568 - -
2%| = 3.468 2.1 2.910 - -
o) 6.025 538 2.485 - -
3% " 1.824 1.6 1.627 - —
o) 4621 53 1.454 - -




fMEFES HEZES T E i tthig
SHIE BHEEEHEHES EBHERMA KSR
VN~ | A
N — TUBIAEE | g | xmme | memEn | Gme | genRw | BERM
- TR AR BHUOEE T AR EEBER iR EEBER iR
% % % % %
3 A TYIRAR 1Z| 3 0515 1.7 0.265 - -
=l 2.897 47 0.200 - -
2%| = 0.019 14 0.001 - -
=l 2.805 47 0.001 - -
3% = 0.018 14 0.001 - -
=l 2.804 49 0.001 - -
4% A TYIRAR 1Z| 3 3.457 1.7 3.184 - -
" 5.661 49 2.857 - -
2%| = 1.973 1.6 1.765 - -
=l 4454 5.0 1.567 - -
3% = 0.826 1.6 0.650 - -
=l 3.564 5.2 0.520 - -
78 iAo TYIRAR 1Z| 3 6.958 20 6.448 - -
=l 8.634 48 5913 - -
2%| = 4711 20 4199 - -
=l 6.978 5.4 3.733 - -
3% = 2.299 1.7 2.032 - -
=l 4.842 5.2 1.797 - -
8%  thi o TYIRAR 1Z| 3 6.958 20 6.448 - -
=l 8.634 48 5913 - -
2%| = 4711 20 4199 - -
=l 6.978 5.4 3.733 - -
3% = 2.299 1.7 2.032 - -
=l 4.842 5.2 1.797 - -
1358 g/ oTvIRAR 1Z| i3 8.251 41 6.073 - -
=l 10.315 7.8 5.186 - -
2%| = 3.924 22 3.267 - -
=l 6.455 5.9 2.848 - -
3% = 2.410 1.6 2213 - -
=l 5177 5.3 2.010 - -
1458 g/ TYvIRAR 1Z| i3 7.592 41 5.421 - -
" 9.691 78 4568 - -
2%| = 3.468 2.1 2.910 - -
=l 6.025 5.8 2.485 - -
3% = 1.824 1.6 1.627 - -
=l 4621 5.3 1.454 - -
MEFES HEEL #iEt B G tthisg
EHE EHEEEHEHES e S TR LR
V- | P
NN —— FHMERE | —mym | xpme | mewmEn | GRH | REREN | ERRE
SRS L SIOE=F 3 BER BERER i BERER i
% % % % %
3% iAo T RAR 12| = 0.801 1.8 0.429 — -
o) 3.166 49 0.313 - -
2%| = 0.019 14 0.001 - -
o) 2.805 47 0.001 - -
3% i 0.018 1.4 0.001 - -
o) 2.804 49 0.001 - -
448 AU TVIRAR 12| i 3.625 1.9 3.204 - -
o) 5.819 5.1 2.829 - -
2%| = 1.973 1.6 1.765 - -
o) 4.454 5.0 1.567 - -
3% " 0.826 1.6 0.650 - -
o) 3.564 5.2 0.520 - -
78 A TYIRAR 12| i3 6.958 2.0 6.448 - -
o) 8.634 48 5913 - -
2% = 4711 20 4.199 - -
o) 6.978 5.4 3.733 - -
3% 3 2.299 1.7 2.032 - -
o) 4.842 5.2 1.797 - -
8% iAo T RAR 12| = 6.958 20 6.448 — —
o) 8.634 48 5913 - -
2% = 4711 20 4.199 - -
o) 6.978 5.4 3.733 - -
3% 3 2.299 1.7 2.032 - -
o) 4.842 5.2 1.797 - -
1358 Ao TFvIRAR 1% i 8.251 41 6.073 - -
o) 10.315 78 5.186 - -
2%| = 3.924 22 3.267 - -
o) 6.455 59 2.848 - -
3% = 2.410 1.6 2.213 - -
o) 5177 53 2.010 - -
144 iAo FvIRAR 1% 3 7.592 41 5.421 - -
o) 9.691 78 4568 - -
2%| = 3.468 2.1 2.910 - -
o) 6.025 538 2.485 - -
3% " 1.824 1.6 1.627 - —
o) 4621 53 1.454 - -




fMEFES HEZES T E i tthig
SHIE BHEEEHEHES EHE T ERKIIF
VN~ | A
N — TUBIAEE | g | xmme | memEn | Gme | genRw | BERM
- TR AR BHUOEE T AR EEBER iR EEBER iR
% % % % %
3 A TYIRAR 1Z| 3 0.801 18 0.429 - -
=l 3.166 49 0.313 - -
2%| = 0.019 14 0.001 - -
=l 2.805 47 0.001 - -
3% = 0.018 14 0.001 - -
=l 2.804 49 0.001 - -
4% A TYIRAR 1Z| 3 3.625 1.9 3.204 - -
" 5.819 5.1 2.829 - -
2%| = 1.973 1.6 1.765 - -
=l 4454 5.0 1.567 - -
3% = 0.826 1.6 0.650 - -
=l 3.564 5.2 0.520 - -
78 iAo TYIRAR 1Z| 3 6.958 20 6.448 - -
=l 8.634 48 5913 - -
2%| = 4711 20 4199 - -
=l 6.978 5.4 3.733 - -
3% = 2.299 1.7 2.032 - -
=l 4.842 5.2 1.797 - -
8%  thi o TYIRAR 1Z| 3 6.958 20 6.448 - -
=l 8.634 48 5913 - -
2%| = 4711 20 4199 - -
=l 6.978 5.4 3.733 - -
3% = 2.299 1.7 2.032 - -
=l 4.842 5.2 1.797 - -
1358 g/ oTvIRAR 1Z| i3 8.251 41 6.073 - -
=l 10.315 7.8 5.186 - -
2%| = 3.924 22 3.267 - -
=l 6.455 5.9 2.848 - -
3% = 2.410 1.6 2213 - -
=l 5177 5.3 2.010 - -
1458 g/ TYvIRAR 1Z| i3 7.592 41 5.421 - -
" 9.691 78 4568 - -
2%| = 3.468 2.1 2.910 - -
=l 6.025 5.8 2.485 - -
3% = 1.824 1.6 1.627 - -
=l 4621 5.3 1.454 - -
MEFES HEEL #iEt B G tthisg
EHE EHEEEHEHES EHEEIELOHET
V- | P
NN —— FHMERE | —mym | xpme | mewmEn | GRH | REREN | ERRE
SRS L SIOE=F 3 BER BERER i BERER i
% % % % %
3% iAo T RAR 12| = 0.515 1.7 0.265 — -
o) 2.897 47 0.200 - -
2%| = 0.019 14 0.001 - -
o) 2.805 47 0.001 - -
3% i 0.018 1.4 0.001 - -
o) 2.804 49 0.001 - -
448 AU TVIRAR 12| i 3.457 1.7 3.184 - -
o) 5.661 49 2.857 - -
2%| = 1.973 1.6 1.765 - -
o) 4.454 5.0 1.567 - -
3% " 0.826 1.6 0.650 - -
o) 3.564 5.2 0.520 - -
78 A TYIRAR 12| i3 6.958 2.0 6.448 - -
o) 8.634 48 5913 - -
2% = 4711 20 4.199 - -
o) 6.978 5.4 3.733 - -
3% 3 2.299 1.7 2.032 - -
o) 4.842 5.2 1.797 - -
8% iAo T RAR 12| = 6.958 20 6.448 — —
o) 8.634 48 5913 - -
2% = 4711 20 4.199 - -
o) 6.978 5.4 3.733 - -
3% 3 2.299 1.7 2.032 - -
o) 4.842 5.2 1.797 - -
1358 Ao TFvIRAR 1% i 8.251 41 6.073 - -
o) 10.315 78 5.186 - -
2%| = 3.924 22 3.267 - -
o) 6.455 59 2.848 - -
3% = 2.410 1.6 2.213 - -
o) 5177 53 2.010 - -
144 iAo FvIRAR 1% 3 7.592 41 5.421 - -
o) 9.691 78 4568 - -
2%| = 3.468 2.1 2.910 - -
o) 6.025 538 2.485 - -
3% " 1.824 1.6 1.627 - —
o) 4621 53 1.454 - -




fMEFES HEZES T E i tthig
SHIE BHEEEHEHES SHEE IR
VN~ | A
N — TUBIAEE | g | xmme | memEn | Gme | genRw | BERM
- TR AR BHUOEE T AR EEBER iR EEBER iR
% % % % %
3 A TYIRAR 1Z| 3 2.053 2.3 1.302 - -
=l 4.342 5.6 0.966 - -
2%| = 0.019 14 0.001 - -
=l 2.805 47 0.001 - -
3% = 0.018 14 0.001 - -
=l 2.804 49 0.001 - -
4% A TYIRAR 1Z| 3 4.840 25 3.951 - -
" 6.959 6.0 3.277 - -
2%| = 1.973 1.6 1.765 - -
=l 4454 5.0 1.567 - -
3% = 0.826 1.6 0.650 - -
=l 3.564 5.2 0.520 - -
78 iAo TYIRAR 1Z| 3 6.958 20 6.448 - -
=l 8.634 48 5913 - -
2%| = 4711 20 4199 - -
=l 6.978 5.4 3.733 - -
3% = 2.299 1.7 2.032 - -
=l 4.842 5.2 1.797 - -
8%  thi o TYIRAR 1Z| 3 6.958 20 6.448 - -
=l 8.634 48 5913 - -
2%| = 4711 20 4199 - -
=l 6.978 5.4 3.733 - -
3% = 2.299 1.7 2.032 - -
=l 4.842 5.2 1.797 - -
1358 g/ oTvIRAR 1Z| i3 8.251 41 6.073 - -
=l 10.315 7.8 5.186 - -
2%| = 3.924 22 3.267 - -
=l 6.455 5.9 2.848 - -
3% = 2.410 1.6 2213 - -
=l 5177 5.3 2.010 - -
1458 g/ TYvIRAR 1Z| i3 7.592 41 5.421 - -
" 9.691 78 4568 - -
2%| = 3.468 2.1 2.910 - -
=l 6.025 5.8 2.485 - -
3% = 1.824 1.6 1.627 - -
=l 4621 5.3 1.454 - -
MEFES HEEL #iEt B G tthisg
EHE EHEEEHEHES = 2 = R AR o = {E BT
V- | P
NN —— FHMERE | —mym | xpme | mewmEn | GRH | REREN | ERRE
SRS L SIOE=F 3 BER BERER i BERER i
% % % % %
3% iAo T RAR 12| = 0.801 1.8 0.429 — -
o) 3.166 49 0.313 - -
2%| = 0.019 14 0.001 - -
o) 2.805 47 0.001 - -
3% i 0.018 1.4 0.001 - -
o) 2.804 49 0.001 - -
448 AU TVIRAR 12| i 3.625 1.9 3.204 - -
o) 5.819 5.1 2.829 - -
2%| = 1.973 1.6 1.765 - -
o) 4.454 5.0 1.567 - -
3% " 0.826 1.6 0.650 - -
o) 3.564 5.2 0.520 - -
78 A TYIRAR 12| i 10.416 1.9 10.026 - -
o) 12.051 45 9.529 - -
2% = 9.214 1.9 8.821 - -
o) 11.287 5.2 8.226 - -
3% 3 7.673 1.9 7.282 - -
o) 9.965 5.4 6.753 - -
8% iAo T RAR 12| = 10.416 1.9 10.026 — -
o) 12.051 45 9.529 - -
2% = 9.214 1.9 8.821 - -
o) 11.287 5.2 8.226 - -
3% 3 7.673 1.9 7.282 - -
o) 9.965 5.4 6.753 - -
1358 Ao TFvIRAR 1% i 8.251 41 6.073 - -
o) 10.315 78 5.186 - -
2%| = 3.924 22 3.267 - -
o) 6.455 59 2.848 - -
3% = 2.410 1.6 2.213 - -
o) 5177 53 2.010 - -
144 iAo FvIRAR 1% 3 7.592 41 5.421 - -
o) 9.691 78 4568 - -
2%| = 3.468 2.1 2.910 - -
o) 6.025 538 2.485 - -
3% " 1.824 1.6 1.627 - —
o) 4621 53 1.454 - -




fMEFES HEZES T E i tthig
SHIE BHEEEHEHES = E S REML) BT
VN~ | A
N — TUBIAEE | g | xmme | memEn | Gme | genRw | BERM
- TR AR BHUOEE T AR EEBER iR EEBER iR
% % % % %
3 A TYIRAR 1Z| 3 2.032 2.3 1.281 - -
=l 4.322 5.6 0.946 - -
2%| = 0.019 14 0.001 - -
=l 2.805 47 0.001 - -
3% = 0.018 14 0.001 - -
=l 2.804 49 0.001 - -
4% A TYIRAR 1Z| 3 4818 25 3.929 - -
" 6.939 6.0 3.257 - -
2%| = 1.973 1.6 1.765 - -
=l 4454 5.0 1.567 - -
3% = 0.826 1.6 0.650 - -
=l 3.564 5.2 0.520 - -
78 iAo TYIRAR 1Z| 3 6.958 20 6.448 - -
=l 8.634 48 5913 - -
2%| = 4711 20 4199 - -
=l 6.978 5.4 3.733 - -
3% = 2.299 1.7 2.032 - -
=l 4.842 5.2 1.797 - -
8%  thi o TYIRAR 1Z| 3 6.958 20 6.448 - -
=l 8.634 48 5913 - -
2%| = 4711 20 4199 - -
=l 6.978 5.4 3.733 - -
3% = 2.299 1.7 2.032 - -
=l 4.842 5.2 1.797 - -
1358 g/ oTvIRAR 1Z| i3 8.251 41 6.073 - -
=l 10.315 7.8 5.186 - -
2%| = 3.924 22 3.267 - -
=l 6.455 5.9 2.848 - -
3% = 2.410 1.6 2213 - -
=l 5177 5.3 2.010 - -
1458 g/ TYvIRAR 1Z| i3 7.592 41 5.421 - -
" 9.691 78 4568 - -
2%| = 3.468 2.1 2.910 - -
=l 6.025 5.8 2.485 - -
3% = 1.824 1.6 1.627 - -
=l 4621 5.3 1.454 - -
MEFES HEEL #iEt B G tthisg
EHE EHEEEHEHES o 01 2 5 ) Bt 0 BT
V- | P
NN —— FHMERE | —mym | xpme | mewmEn | GRH | REREN | ERRE
SRS L SIOE=F 3 BER BERER i BERER i
% % % % %
3% iAo T RAR 12| = 2.053 23 1.302 — -
o) 4.342 5.6 0.966 - -
2%| = 0.019 14 0.001 - -
o) 2.805 47 0.001 - -
3% i 0.018 1.4 0.001 - -
o) 2.804 49 0.001 - -
448 AU TVIRAR 12| i 4.840 25 3.951 - -
o) 6.959 6.0 3277 - -
2%| = 1.973 1.6 1.765 - -
o) 4.454 5.0 1.567 - -
3% " 0.826 1.6 0.650 - -
o) 3.564 5.2 0.520 - -
78 A TYIRAR 12| i3 6.958 2.0 6.448 - -
o) 8.634 48 5913 - -
2% = 4711 20 4.199 - -
o) 6.978 5.4 3.733 - -
3% 3 2.299 1.7 2.032 - -
o) 4.842 5.2 1.797 - -
8% iAo T RAR 12| = 6.958 20 6.448 — —
o) 8.634 48 5913 - -
2% = 4711 20 4.199 - -
o) 6.978 5.4 3.733 - -
3% 3 2.299 1.7 2.032 - -
o) 4.842 5.2 1.797 - -
1358 Ao TFvIRAR 1% i 8.251 41 6.073 - -
o) 10.315 78 5.186 - -
2%| = 3.924 22 3.267 - -
o) 6.455 59 2.848 - -
3% = 2.410 1.6 2.213 - -
o) 5177 53 2.010 - -
144 iAo FvIRAR 1% 3 7.592 41 5.421 - -
o) 9.691 78 4568 - -
2%| = 3.468 2.1 2.910 - -
o) 6.025 538 2.485 - -
3% " 1.824 1.6 1.627 - —
o) 4621 53 1.454 - -




fMEFES HEZES T E i tthig
SHIE BHEEEHEHES = 5B S M AR R ET
VN~ | A
N — TUBIAEE | g | xmme | memEn | Gme | genRw | BERM
- TR AR BHUOEE T AR EEBER iR EEBER iR
% % % % %
3 A TYIRAR 1Z| 3 0.844 18 0.496 - -
=l 3.207 49 0.376 - -
2%| = 0.019 14 0.001 - -
=l 2.805 47 0.001 - -
3% = 0.018 14 0.001 - -
=l 2.804 49 0.001 - -
4% A TYIRAR 1Z| 3 3.670 1.9 3273 - -
" 5.860 5.1 2.893 - -
2%| = 1.973 1.6 1.765 - -
=l 4454 5.0 1.567 — -
3% = 0.826 1.6 0.650 - -
=l 3.564 5.2 0.520 - -
78 iAo TYIRAR 1Z| 3 6.958 20 6.448 - -
=l 8.634 48 5913 - -
2%| = 4711 20 4199 - -
=l 6.978 5.4 3.733 - -
3% = 2.299 1.7 2.032 - -
=l 4.842 5.2 1.797 - -
8%  thi o TYIRAR 1Z| 3 6.958 20 6.448 - -
=l 8.634 48 5913 - -
2%| = 4711 20 4199 - -
=l 6.978 5.4 3.733 - -
3% = 2.299 1.7 2.032 - -
=l 4.842 5.2 1.797 - -
1358 g/ oTvIRAR 1Z| i3 8.251 41 6.073 - -
=l 10.315 7.8 5.186 - -
2%| = 3.924 22 3.267 - -
=l 6.455 5.9 2.848 - -
3% = 2.410 1.6 2213 - -
=l 5177 5.3 2.010 - -
1458 g/ TYvIRAR 1Z| i3 7.592 41 5.421 - -
" 9.691 78 4568 - -
2%| = 3.468 2.1 2.910 - -
=l 6.025 5.8 2.485 - -
3% = 1.824 1.6 1.627 - -
=l 4621 5.3 1.454 - -
MEFES HEEL #iEt B G tthisg
EHE EHEEEHEHES eHESREA S
V- | P
NN —— FHMERE | —mym | xpme | mewmEn | GRH | REREN | ERRE
SRS L SIOE=F 3 BER BERER i BERER i
% % % % %
3% iAo T RAR 12| = 0.801 1.8 0.429 — -
o) 3.166 49 0.313 - -
2%| = 0.019 14 0.001 - -
o) 2.805 47 0.001 - -
3% i 0.018 1.4 0.001 - -
o) 2.804 49 0.001 - -
448 AU TVIRAR 12| i 3.625 1.9 3.204 - -
o) 5.819 5.1 2.829 - -
2%| = 1.973 1.6 1.765 - -
o) 4.454 5.0 1.567 - -
3% " 0.826 1.6 0.650 - -
o) 3.564 5.2 0.520 - -
78 A TYIRAR 12| i3 6.958 2.0 6.448 - -
o) 8.634 48 5913 - -
2% = 4711 20 4.199 - -
o) 6.978 5.4 3.733 - -
3% 3 2.299 1.7 2.032 - -
o) 4.842 5.2 1.797 - -
8% iAo T RAR 12| = 6.958 20 6.448 — —
o) 8.634 48 5913 - -
2% = 4711 20 4.199 - -
o) 6.978 5.4 3.733 - -
3% 3 2.299 1.7 2.032 - -
o) 4.842 5.2 1.797 - -
1358 Ao TFvIRAR 1% i 8.251 41 6.073 - -
o) 10.315 78 5.186 - -
2%| = 3.924 22 3.267 - -
o) 6.455 59 2.848 - -
3% = 2.410 1.6 2.213 - -
o) 5177 53 2.010 - -
144 iAo FvIRAR 1% 3 7.592 41 5.421 - -
o) 9.691 78 4568 - -
2%| = 3.468 2.1 2.910 - -
o) 6.025 538 2.485 - -
3% " 1.824 1.6 1.627 - —
o) 4621 53 1.454 - -




fMEFES HEZES T E i tthig
SHIE BHEEEHEHES T R 50
VN~ | A
N — TIBIERE | _gaus | sopme | memaw | GBE | 2en®RE | BEBRS
- TR AR BHUOEE T AR EEBER iR EEBER iR
% % % % %
3 A TYIRAR 1Z| 3 0.844 18 0.496 - -
=l 3.207 49 0.376 - -
2%| = 0.019 14 0.001 - -
=l 2.805 47 0.001 - -
3% = 0.018 14 0.001 - -
=l 2.804 49 0.001 - -
4% A TYIRAR 1Z| 3 3.670 1.9 3273 - -
" 5.860 5.1 2.893 - -
2%| = 1.973 1.6 1.765 - -
=l 4454 5.0 1.567 - -
3% = 0.826 1.6 0.650 - -
=l 3.564 5.2 0.520 - -
78 iAo TYIRAR 1Z| 3 6.958 20 6.448 - -
=l 8.634 48 5913 - -
2%| = 4711 20 4199 - -
=l 6.978 5.4 3.733 - -
3% = 2.299 1.7 2.032 - -
=l 4.842 5.2 1.797 - -
8%  thi o TYIRAR 1Z| 3 6.958 20 6.448 - -
=l 8.634 48 5913 - -
2%| = 4711 20 4199 - -
=l 6.978 5.4 3.733 - -
3% = 2.299 1.7 2.032 - -
=l 4.842 5.2 1.797 - -
1358 g/ oTvIRAR 1Z| i3 8.251 41 6.073 - -
=l 10.315 7.8 5.186 - -
2%| = 3.924 22 3.267 - -
=l 6.455 5.9 2.848 - -
3% = 2.410 1.6 2213 - -
=l 5177 5.3 2.010 - -
1458 g/ TYvIRAR 1Z| i3 7.592 41 5.421 - -
" 9.691 78 4568 - -
2%| = 3.468 2.1 2.910 - -
=l 6.025 5.8 2.485 - -
3% = 1.824 1.6 1.627 - -
=l 4621 5.3 1.454 - -
MEFES HEEL #iEt B G tthisg
EHE EHEEEHEHES EHESFE /S +E
V- | P
NN —— IBIERIE | _gan | spme | memd@m | GRE | BenRE | BERS
SRS L SIOE=F 3 BER BERER i BERER i
% % % % %
3% iAo T RAR 12| = 1.125 1.8 0.762 — -
o) 3470 5.0 0.581 - -
2%| = 0.019 14 0.001 - -
o) 2.805 47 0.001 - -
3% i 0.018 1.4 0.001 - -
o) 2.804 49 0.001 - -
448 AU TVIRAR 12| i 5.374 2.0 4.858 - -
o) 7.479 53 4328 - -
2%| = 3.591 1.7 3.320 - -
o) 5973 5.1 2.981 - -
3% " 1.923 1.7 1.653 - -
o) 4594 5.4 1.401 - -
78 A TYIRAR 12| i 7.060 1.9 6.670 - -
o) 8.763 45 6.241 - -
2% = 5.454 1.9 5.061 - -
o) 7.682 5.2 4.621 - -
3% i 3.469 1.7 3.202 - -
o) 5.958 5.2 2913 - -
8% iAo T RAR 12| = 7.060 1.9 6.670 — —
o) 8.763 45 6.241 - -
2% = 5.454 1.9 5.061 - -
o) 7.682 5.2 4.621 - -
3% = 3.469 1.7 3.202 - -
o) 5.958 5.2 2913 - -
1358 Ao TFvIRAR 1% i 8.251 41 6.073 - -
o) 10.315 78 5.186 - -
2%| = 3.924 22 3.267 - -
o) 6.455 59 2.848 - -
3% = 2.410 1.6 2.213 - -
o) 5177 53 2.010 - -
144 iAo FvIRAR 1% 3 7.592 41 5.421 - -
o) 9.691 78 4568 - -
2%| = 3.468 2.1 2.910 - -
o) 6.025 538 2.485 - -
3% " 1.824 1.6 1.627 - —
o) 4621 53 1.454 - -




fMEFES HEZES T E i tthig
SHIE BHEEEHEHES EHEEZE KA
VN~ | A
N — TUBIAEE | g | xmme | memEn | Gme | genRw | BERM
- TR AR BHUOEE T AR EEBER iR EEBER iR
% % % % %
3 A TYIRAR 1Z| 3 0.801 18 0.429 - -
=l 3.166 49 0.313 - -
2%| = 0.019 14 0.001 - -
=l 2.805 47 0.001 - -
3% = 0.018 14 0.001 - -
=l 2.804 49 0.001 - -
4% A TYIRAR 1Z| 3 3.625 1.9 3.204 - -
" 5.819 5.1 2.829 - -
2%| = 1.973 1.6 1.765 - -
=l 4454 5.0 1.567 - -
3% = 0.826 1.6 0.650 - -
=l 3.564 5.2 0.520 - -
78 iAo TYIRAR 1Z| 3 6.958 20 6.448 - -
=l 8.634 48 5913 - -
2%| = 4711 20 4199 - -
=l 6.978 5.4 3.733 - -
3% = 2.299 1.7 2.032 - -
=l 4.842 5.2 1.797 - -
8%  thi o TYIRAR 1Z| 3 6.958 20 6.448 - -
=l 8.634 48 5913 - -
2%| = 4711 20 4199 - -
=l 6.978 5.4 3.733 - -
3% = 2.299 1.7 2.032 - -
=l 4.842 5.2 1.797 - -
1358 g/ oTvIRAR 1Z| i3 8.251 41 6.073 - -
=l 10.315 7.8 5.186 - -
2%| = 3.924 22 3.267 - -
=l 6.455 5.9 2.848 - -
3% = 2.410 1.6 2213 - -
=l 5177 5.3 2.010 - -
1458 g/ TYvIRAR 1Z| i3 7.592 41 5.421 - -
" 9.691 78 4568 - -
2%| = 3.468 2.1 2.910 - -
=l 6.025 5.8 2.485 - -
3% = 1.824 1.6 1.627 - -
=l 4621 5.3 1.454 - -
MEFES HEEL #iEt B G tthisg
EHE EHEEEHEHES EHEBZH=R+
V- | P
NN —— FHMERE | —mym | xpme | mewmEn | GRH | REREN | ERRE
SRS L SIOE=F 3 BER BERER i BERER i
% % % % %
3% iAo T RAR 12| = 0.801 1.8 0.429 — -
o) 3.166 49 0.313 - -
2%| = 0.019 14 0.001 - -
o) 2.805 47 0.001 - -
3% i 0.018 1.4 0.001 - -
o) 2.804 49 0.001 - -
448 AU TVIRAR 12| i 3.625 1.9 3.204 - -
o) 5.819 5.1 2.829 - -
2%| = 1.973 1.6 1.765 - -
o) 4.454 5.0 1.567 - -
3% " 0.826 1.6 0.650 - -
o) 3.564 5.2 0.520 - -
78 A TYIRAR 12| i3 6.958 2.0 6.448 - -
o) 8.634 48 5913 - -
2% = 4711 20 4.199 - -
o) 6.978 5.4 3.733 - -
3% 3 2.299 1.7 2.032 - -
o) 4.842 5.2 1.797 - -
8% iAo T RAR 12| = 6.958 20 6.448 — —
o) 8.634 48 5913 - -
2% = 4711 20 4.199 - -
o) 6.978 5.4 3.733 - -
3% 3 2.299 1.7 2.032 - -
o) 4.842 5.2 1.797 - -
1358 Ao TFvIRAR 1% i 8.251 41 6.073 - -
o) 10.315 78 5.186 - -
2%| = 3.924 22 3.267 - -
o) 6.455 59 2.848 - -
3% = 2.410 1.6 2.213 - -
o) 5177 53 2.010 - -
144 iAo FvIRAR 1% 3 7.592 41 5.421 - -
o) 9.691 78 4568 - -
2%| = 3.468 2.1 2.910 - -
o) 6.025 538 2.485 - -
3% " 1.824 1.6 1.627 - —
o) 4621 53 1.454 - -




fMEFES HEZES #iat B A tthig
SHE BHEEEHEHES EHEEZ A2 ERT

VN~ | A
N — TIMERE | _gin | spme | memEw | GRE | BEpRY | BERM
- TR AR BHUOEE T AR EEBER iR EEBER iR
% % % % %
3 Ao TYIRAR 1Z| 3 0.637 18 0.289 - -
=l 3.013 49 0.190 - -
2%| = 0.019 14 0.001 - -
=l 2.805 47 0.001 - -
3% = 0.018 14 0.001 - -
=l 2.804 49 0.001 - -
4% B L TYIRAR 1Z| 3 3.457 1.7 3.184 - -
" 5.661 49 2.857 - -
2%| = 1.973 1.6 1.765 - -
=l 4454 5.0 1.567 - -
3% = 0.826 1.6 0.650 - -
=l 3.564 5.2 0.520 - -
78 iAo TYIRAR 1Z| 3 5.783 2.1 5.186 - -
=l 7.516 49 4711 - -
2%| = 3614 1.7 3.345 - -
=l 5.936 5.0 3.039 - -
3% = 2.001 1.7 1.734 - -
=l 4558 5.2 1513 - -
8%  thi o TYIRAR 1Z| 3 5.783 2.1 5.186 - -
=l 7.516 49 4711 - -
2%| = 3614 1.7 3.345 - -
=l 5.936 5.0 3.039 - -
3% = 2.001 1.7 1.734 - -
=l 4558 5.2 1513 - -
1358 g/ oTvIRAR 1Z| i3 8.251 41 6.073 - -
=l 10.315 7.8 5.186 - -
2%| = 3.924 22 3.267 - -
=l 6.455 5.9 2.848 - -
3% = 2.410 1.6 2213 - -
=l 5177 5.3 2.010 - -
1458 g/ TYvIRAR 1Z| i3 7.592 41 5.421 - -
" 9.691 78 4568 - -
2%| = 3.468 2.1 2.910 - -
=l 6.025 5.8 2.485 - -
3% = 1.824 1.6 1.627 - -
=l 4621 5.3 1.454 - -
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